Consolidation work 12 Second Level ***
1.  10.6 + 4.7 + 2.2 

2.  24.8 – 18.4

3.  67.9 x 12

4.  83.43 divided by 6

5.  315 x 60

6.  63.8 x 10

7.  90.04 x 10

8.  3/4 of 10 metres

9.  12.5% of £720

10.  Write 5% as a decimal and a fraction.

11.  7cm = ___ m? 

12.  14.5 cm = ___mm?

13.  0.089litres = ____ml?

14.  Simplify 7:21

15.  8 – 18

16.  Solve 3n + 4 = 37

17.  Order from the smallest to the biggest: 33.01,  3.1,  1.03,  1.3,  3.01,  11.03

18.  Round 457.657 to two decimal places. 

19.  Find 14 squared.

20. What is the missing angle in this triangle: 30 degrees, 60 degrees and ???
